mastertest.ir culw 5> 3ui,l owlicis)S Ugosl wleMbl g Ll oyl

<

A

350A

H
SSolgils ol
 asday e g T [ TP PR VT % I |
avmny (0)) e plol

Sl o 0 s
R )
S el S Sl

[ 1Ay Ja Joto &u,guﬁ,'uuu)lfélboj,égé,”,_‘,,037 ]

[ 1YYF o8 e (IT) WleMbo! 5 5glid wiigo 45 goto ]

ABIO VA 1 8l Dus ALY (R INTY)

W50 8 ) land 9 3lasi ¢ Sloial 3130 lgie

&jlans U 8 laud 3! Jloaw Slaws ol g T
Y- \ Y. TR :
5 n v s A daesly il inf plasle) St g |
(5 gl SlacSod liilo 5 pwiige
ya \ T R B ™
oo | | " h =,
ar v \A g daasls sl ol Jyol) S e paai iy aegere | o
L
e = L PS5 jlons 8
[ WAY Jlo oo fpoge ]
il e e s iile 1 a3l
ol g 8305 )15 el !
%, o 5 A Y oA —

mastertest.ir culw ;> i)l Csawlici, S WVlgw ads sqbils




mastertest.ir culw 5> 3ui,l owlicis)S Ugosl wleMbl g Ll oyl

Y axao 350A e g gges b

Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet,

1-  Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic

2-  Some tribes still the more remote mountains and jungles of the country.
1) forego 2) inhabit 3) ensue 4) aggravate

3-  The of coffee brought Christine into the small cafe.
1) aroma 2) fragility 3) whim 4) badge

4-  The client our proposal because they found our presentation banal and
unimpressive.
1) recognized 2) emulated 3) hailed 4) rejected

5-  Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.
1) remorse 2) charity 3) stubbornness 4) esteem

6- A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.
1) perpetual 2) rudimentary 3) explicit 4) trivial

7- 1 the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.
1) vanished 2 )squandered 3) forestalled 4) penetrated

8-  Why would lan want to claim his inheritance and then give all his money away? It was a

to me.

1) riddle 2) peril 3) glory 4) fragment

9-  He was later accused of writing loan and deposit records, found guilty and
sentenced to three years of imprisonment.
1) essential 2) fraudulent 3) vulgar 4) witty

10-  The question of how the murderer had gained entry to the house the police for
several weeks.
1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark your answer sheet.

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11)  rely either on breath-hold or on air pumped from

the surface. scuba divers carry their own source of breathing gas. (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit. in which
exhaled gas (13)_ the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

11- 1) that 2) on which they 3) which 4) they

12- 1) allowing them 2) they allow 3) allowed them 4) to allow

13- 1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted

14- 1) where the gas breathing 2) which breathes the gas
3) the breathing gas which 4) in which the breathing gas

15- 1) the oxygen is used 2) the oxygen used is
3) uses the oxygen to be 4) used is the oxygen

mastertest.ir culw ;> i)l Csawlici, S WVlgw ads sqbils



mastertest.ir culw 5> 3ui,l owlicis)S Ugosl wleMbl g Ll oyl

Y axao 350A e g gges b

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

19-

20-

Passage 1:

But is wiki information reliable? If anyone can add. delete, or change information, can the
information be trusted? This depends on the wiki community. The community usually tries to
make sure that the information on a topic is valid. If someone who is knowledgeable about a
topic sees an entry with inaccurate information, that person can edit, or change, it.

Changes to wiki entries on a site can be accepted. revised, or rejected by the site's
community. In that way, pages on wiki sites are expanding and changing all the time. In fact,
on a big wiki like Wikipedia, thousands of pages change every day. At certain times of the day
there can be 50 or more pages changing every minute! Sometimes the changes may be as
simple as a corrected spelling or grammatical error. Other times they are changes or additions
to the content.

A wiki is a collaborative project. It can be created for any topic that has an active
community of people who are interested in it. Do you want to find an interesting quote to use
in a writing project or report? Go to Wikiquotes. Do you want to learn the most recent
information about a place you're planning to visit? Try Wikitravel. A wiki gives the community
a way to gather information together and modify it as things change. Wikis are dramatically
changing the way we get information. And unlike information in a printed book, the
information is being updated all the time.

What is the author’s main purpose in the passage?

1) To inform 2) To criticize 3) To distinguish 4) To persuade
The paragraph preceding the passage most probably discusses ...............

1) wiki communities 2) how a wiki is created

3) why wikis are becoming popular 4) information sites on the Internet
The word modify in line 15 is closest in meaning to .........ovuuue .

1) create 2) change 3) correct 4) increase

Which of the following statements is NOT correct according to the passage?
1) Wikis vary in terms of content.

2) Anyone can add or change information.

3) All the information on wikis is reliable.

4) Information is updated on wikis all the time.

Which of the following statements best expresses the writer’s point of view?
1) Everyone should be part of a wiki community.

2) People shouldn’t use wikis because the information is not always correct.

3) Wikis are not perfect. but they can be an excellent source of information.

4) It is easier to change the information in wikis than in books so in the future books will not
be necessary.
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Passage 2:

High-tech sources of news, especially the Internet, are trying to attract people who usually
read newspapers or watch TV, and they are succeeding. More than half of the population, or
150 million Americans, used the Internet in 2003, many of them getting some news
on-line. Nicholas Negroponte of the Massachusetts Institute of Technology predicts that
Americans will soon spend more time on the Internet than watching television.

In order to compete with the Internet, some newspapers and TV stations are changing the
way they deliver the news. Instead of reporting the news objectively, basing their stories on
facts. they try to keep their readers’ and viewers' interest by focusing on the most upsetting or
shocking details of a story. This trend toward sensationalism is making people question the
truth of the news. According to one study. 55% of Americans used to believe what they heard
or read in news reports. Recently. that number has dropped to 29% for television and even
lower for newspapers and magazines.

What can be the best title for the passage?

1) News Technology 2) Online Competitions

3) Sources of News 4) Competition for Customers

The word “they’” in line 2 refers to .....covvvivnnn o

1) sources 2) people 3) the Internet 4) newspapers and TV

Why does the author mention Nicholas Negroponte in the first paragraph?
1) To make a prediction

2) To introduce an expert on the news

3) To support an idea mentioned in the paragraph

4) To encourage specialists to study people’s attitudes toward the sources of news
Which of the following questions does the second paragraph answer?

1) How do most Americans get their news these days?

2) What have some traditional news sources done in order to compete?

3) What are two ways people use technology to get news today?

4) Why do traditional and high-tech news sources compete with each other?

It can inferred from the passage that ................

1) traditional news sources can attract more people

2) most of the news we get today is not correct

3) Americans” belief in the truth of news reports has changed

4) Some journalists have recently turned to objective coverage of the news
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Passage 3:

The next question, then, is whether there is anything wrong with having an emotional
relationship with a machine. Even today there are people who form deep attachments to their
pets and use them as substitutes for friends or even children. Few consider that unethical.

But a sophisticated robot will probably be even more attractive. For those who always
seem to end up marrying the wrong man or woman. a robotic Mr. or Ms. Right could be
mighty tempting. As the father of artificial intelligence, Marvin Minsky, put it when asked
about the ethics of lonely older people forming close relationships with robots: "If a robot had
all the virtues of a person and was smarter and more understanding, why would the elderly
bother talking to other grumpy old people?"

A robot could be programmed to be as dumb or smart. as independent or subservient, as an
owner desired. And that’s the big disadvantage. Having the perfect robot partner |will damage
the ability to form equally deep human-human relationships. People will always seem
imperfect in comparison. When you're behaving badly. a good friend will tell you. However.
few owners will program their robots to point out their flaws.

People in relationships have to learn to adapt to each other: to enjoy their common
interests and to deal with their differences. It makes us richer. stronger. and wiser. A robot
companion will be perfect at the start. However, there will be nothing to move the
relationship to grow to greater heights.

The paragraph preceding the passage most probably discusses ........ PRI .

1) the uses of robots 2) some unanswered questions

3) giving human attributes to objects 4) emotional attachments to machines
The word tempting’’ in line6 is closest in meaning to ............... 3

1) attractive 2) happy 3) special 4) strong

The phrase “the big disadvantage' in line 11 refers to ............... .

1) having an owner 2) programming a robot

3) robots’ being smart 4) having a perfect robot partner

It can be inferred from the passage that the writer believes in the future .............. -

1) human- robot relationships won't grow stronger

2) many people would like to have robot companians instead of human friends

3) people won't learn how to adapt to each other and deal with their differences

4) there will be fewer problems in human-robot relationships than in human-human relationships
The tone of the passage could best be described as ...............

1) emotional 2) humorous 3) persuasive 4) objective
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